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A system with motor gear N=5 ; load gear N=15; Motor inertia = 1 Kg.mZ2; Load
inertia =8 Kg.m2;, What is the equivalent inertia as seen by the motor
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One equation describing the system s

Y1(s)*(A1SA2 + A27S + A3) + A4Y2=0 thenAlis

Select one:
) a.m2
O b. Kb
O c.m)

O d.t
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a. underdamped
s} b. overdamped
¢. crically damped
d. undamped

) |8.none
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Y(s)/x(s)=
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Amplifier gain
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The steady state emor for input=8ult) is
a. 0.05
B0l

~ 1.001

(=]




SN AR |

LA L 20 B —

what is the value for Kk for stabiity
e Ocked
LB, 0cke2 s
€ 0kl 5
' d Dekq)

E]F ﬂ._-k* 2




_ (s+2,)(s+22)
= s(s+py)(s+p2)
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" Obe
@ e
O diAandBaond C

[ele a

Clear my choice




or the root locus what is k if s=-05

O a.02
O b.xo9

[*]c.025

() d. 0.5 +
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V" Flag question

4 o 3 5 2 y g
S 4+ 38 + 35° + .251 + K

what is the value for K for |
stability ;

O a. 0<k<5/12
O b. 0<k<4/27
O c. 0<k<7/19

O d. 0<K< 14/9

O e. 0<k<12/7
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Quastion

void loop()
Not yet '

answeared
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vt out of val = digitalRead(BUTTON);
LO0 "
if (val == HIGH){

T Flag
Qibasion digitalWrite(LED, HIGH);
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cnnst int LED = 13; H LED cunneded tn pln' 13 i
x-. I const will not change in prog. J
~ Void setup() {

' I put your setup code here, to run once:
" pinMode({LED, OUTPUT); !

} void dof()
{ blink(200,200); } |

void loop() { void dash() _

// put your main code here, to run repeatedly: { blink(1200,200); }
morse s{); void letterspace()
morse s(); { delay(400); }
morse of); void wordspace()
wordspace(); { delay(800), }
} void morse_s()
void blink(int ontime, int offtime) { dot(), doi(); dot(); letterspace(); }
{ void morse_of)

/Itums on LED (externally defined) for ontime ms { dash(); dash(), dash(); letterspace(); }
{/ then off for offtime ms before retuming
digitalWrite(LED, HIGH),
delay(ontime);
digitalWrite(LED, LOW),
delay(offtime);
}

for the above arduino code one of these statements is pot true

+
() a. for each loop; the blink function is exected 9 time
O b. for each loop the letterspace is executed 3 times

[#] c. for each loop; the dash function is executed 9 times

O d. for each loop the dot() function executed 6 time
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Ra Armaiture resisiance £
I La | Armature inductance _' H
il Armature current A
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Select K to achieve a natural frequency of 4

(hint no need to draw root locus)

O a.14
b. 25
O €10
O d.5
O e l6
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GH is shown in the above figure; the value K that inersects the imaginary axis if H(s)=1;

(note use block diagram reduction for G and H) select closest number

Q‘ a. 630

b. 0
c. 500

d. 750
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Load valve
I »

i,
Capacitance, C 13 — =
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R(s) -I=- = L{s]= 6 + | |
< < 3 iR 4s + | |35 + 2
]jj 10 |
=20l C /D is for this system

O a.-s(as+1)/( s(4s+1)(3s+2) )

® b.-s(as+1)/( s(4s+1)(3s+2) +10s+6)
O c. none of the above

O d.6/( s(4s+1)(3s+2) )

O e.6/( s(as+1)(3s+2) +105+6)
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1 i Aatiy Antl ) 3 F i =

void blink(int ontime, int offtime) [ dot(); dot(); dok(} in:—.-1te.9p:4_ TEE?__JE
: void morse_of)

" J1tums on LED (externally defined) for ontime ms ( dash(); dash(); dash(), letierspace,

then oft for dfftime ms before retuming
digitaWritelLED, HIGH)

detayl ontime)

A LW

delay{offtime)

for the above arduino code one of these statementsis not true
o, tor each joop the wordspace axe ed once
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